
Hif’il	
Aktiver	Stamm,	kausativ/faktitiv	zu	Qal	

	 	 Singular	 Plural	

AK	 3	m	 lyjiq.hi 
Wlyjñiq.hi 

	 3	f	 hl'yjñiq.hi 

	 2	m	 T'l.j;ñq.hi ~T,l.j;q.hi 

	 2	f	 T.l.j;q.hi !T,l.j;q.hi 

	 1	c	 yTil.j;ñq.hi Wnl.j;ñq.hi 

PK	 3	m	 lyjiq.y: Wlyjñiq.y: 

	 3	f	 lyjiq.T; hn"l.jeñq.T; 

	 2	m	 lyjiq.T; Wlyjñiq.T; 

	 2	f	 yliyjñiq.T; hn"l.jeñq.T; 

	 1	c	 lyjiq.a; lyjiq.n: 

	

AK	 Vokalfolge	=	 X	yX	iX	.hi	 à	 Akons	X	.X	;X	.hi	

• Präformativ	hi	bildet	mit	dem	ersten	Radikal	der	Wurzel	eine	geschlossene	Silbe.	

• Das	lange	i	(yX	i)	des	zweiten	Radikals	wird	bei	Anhängen	eines	konsonantischen	
Afformativs	zu	einem	Patach	abgelautet.	

	
PK	 Vokalfolge	=	 X	yX	iX	.P	;i à	 Akons	X	.X	eX	.P	;i  

• Das	kurze	a	(Patach)	unter	dem	Präformativ	bildet	eine	geschlossene	Silbe	mit	dem	
ersten	Radikal.	

• Das	lange	i	(yX	i)	des	zweiten	Radikals	wird	bei	Anhängen	eines	konsonantischen	
Afformativs	zu	einem	Sere	(e)	abgelautet.	


